I can use a range of calculation strategies to solve problems.

Example

Kermit jumps 47 cm.
Fergie jumps 8 cm longer.
How far does Fergie jump?

A

o A plank of wood is
90 cm long. 60cm is
sawn off. How long is
the plank now?

e Maisie has two 20ps.
How much does she
have altogether?

© One dumbbell weighs
30kg. The other
weighs half as much.
What is the weight
of the two dumbbells
added together?

e Sammy the snake is
63 cm long. Susan
is 8cm longer. How
long is Susan?

© There is 26 litres of
water in a bath. Nine
litres came from the
cold water tap.
How much water
came from the hot
water tap?

i + 8 =
s 47 +8 =55
ﬂ:m?* e Fergie jumps 55 cm.

. Itis 200 m from

Leah’s house to the
school. The post
office is 89 m closer.
How far is it from
Leah’s house to the
post office?

{2 Ajug contains 500 ml

of lemonade. 300 m|
is poured out.

How much is left in
the jug?

{ Jonathan has eight

£5 notes. How
much does he have
altogether?

{0 Afull fish tank holds

28 litres of water.

The tank is only half
full. How much water
is in the tank?

~ Keith's father weighs

75kg. Keith weighs
40kg less. How
much does Keith
weigh?

{2 Danielle has 65p.

Lorette has 9p.
How much do they
have altogether?

o Winston buys a
pencil case for 39p.
He pays £1. How

much change wili he
receive?

e 60 cm of string is cut
into 3 equal lengths.
How long is each
length?

@ A builder loads 43 kg
of sand into his van.
He adds 26 kg of
cement. What is the
combined weight
of the sand and the
cement?

@ There is 150 ml of
perfume in one

bottle. How much
perfume is there in

four bottles?

e Mylee has ten coins.
They are all the
same. They make £2.
What are the coins?

G A shop has 58 litres
of ice cream. 19 litres
is sold. How much
ice cream is left?



